
 

  

 

COWELLS DIVIDING HEAD  ‐  RGB61 
 

RGB62 
PLATE 
№ 

 
DIVISIONS AVAILABLE 

Note:   2, 4, 5, 8, 10, 20, 40 can be obtained with any plate 

A 
15  3  6    12    15    24  25    30        50      60      75      100    120    150      200        300               

21  3  6  7  12  14  15  21  24    28  30  35    42    56  57  60  70      84      105  120      168      210  280                   

37                          37              74              148      185        296    370             

B 
16            16          32          64      80          128      160            320                   

23              23            46              92    115            184    230                         

39  3  6  12  13  15      24  26  30    39    52  60    65  78      104    120    130  156      195    260  312    390                 

C 
17            17          34              68      85          136    170            340                 

27  3  6  9  12  15    18  24  27  30    36    45    54  60    72      90  108  120  135        180    216  270      360               

41                          41              82              164      205      328                   

D 
18  3  6  9  12  15  16  18  24    30  36    45  48    60  72  80    90    120  144      180      240    360                       

29                  29            58            116      145        232    290                         

43                        43              86            172    215        344                       

E 
19  19    38      76    95    152      190                                                           

31    31      62        124    155        248  310                                                     

47        47      94          188    235      376                                                   

F 
20                16      25      32          50            80      100          160      200             

33  3  6    11  12    15    22  24      30    33    44      55    60  66      88      110  115  132      165      220    264    330   

49      7      14            28        35    49      56      70      98          140      196      245    280    392 

OPERATION: 
Gear Ratio = 40:1  i.e. 40 turns of handle = 1 Revolution of mandrel 

Therefore,   
ସ଴

№ ௢௙ ௗ௜௩௦௜௢௡௦
  =  № of turns of handle for each division 

For example, 15 divisions requires   
ସ଴
ଵହ
  =  2 

ଵ଴
ଵହ
  =  2

ଶ
ଷ
  turns/div.  Use any circle divisible by 3 
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